SH4FEESAMIETFE (RIFR) OHIE

1 PEHE
(#4E%] (Bf:FM, %)
X 7 FHIERTDEE FHIEZE FHIERDE |ATERALLER
— fg & B 13,924,000 159,697 14,083,697 A 2.6
B R g E & R 3,792,505 3,792,505 A 3.3
B EBEER 717,546 717,546 17.5
s REFEALERABE 2,194 2,194 0.3
Al N B OB OB 3,901,832 3,901,832 1.2
& MR N A DS NE KB 2 14,447 14,447 A71.1
£ #x K OB E K 6,222 6,222 0.4
ITXMtBAREE 25,458 25,458 A 5.2
I 5t 8,460,204 8,460,204 A 0.2
& K OB 0B OE 1,013,112 1,013,112 A 2.9
i T Kk & F % 2,834,326 2,834,326 A 9.9
&t N £t 3,847,438 3,847,438 A 8.1
& it 26,231,642 159,697| 26,391,339 A 2.7
2 PHEOHE
DR RS E TR (F15) 13, FHICHHEDN NI L 7e o 70 (ERBUIERRBL AT ST %t
T 5 MR RIFA T AR T R T DR 2 L L TWET,
(Bif: FF)
B FHIEZE
ERBIFERBETFIOTT SBEFRNEASIGEE 122,598

ERSOFETHEHFICHT 52 FE CTHFEEIRFINRARGHEE

37,099




3 FEEHME

B [—eEt])
Ol E T3 %0 159, 69 7FM GEME 159,697 TM)
OHfiE#% T R4 14, 083, 697TH
e ] (Wifir - 1)
X5 &8 g 1HIERE | SFEMR | —AREHR
EEFIERHEBS(CNT FEFERRIRBASE | 122598 122,598 0

REHE HABUHEHE

(d 2]
= RIS T D IR AR R+ A A A Lo fiff i S S LS 1L D TR N
BEFE~OZE L LT, (ERFBOERBUCR SIS L, 1Y 720 105 B 2 /a3 2%
BEICAFGAT @0 3He &% T e 3R <)
(M%)
LT >
» B IFRE BG4
100, 000F X 1, 17744 =117, 700

- EBEE (EREROESE) 4, 898
()

fE B FLIERR B R 252 2 59 2 BERFRRBIAA A & 4a A 2 B Ml B4 117,700
£ BRI Z2 1256 B W R R BIUAA AT A fa A B e i Bh 4 4, 898

REHE RERUEHE

{Eﬁﬁﬁo?‘é‘ciﬂﬁlziﬂ?a?’%‘tﬁ%iiﬁilﬁﬁﬁﬂﬂﬁﬁﬁ#ﬁﬁ?#I 37,099| 37,099| 0

(92
3\ RIS T D G AR O E R AR 2 S oAl S S I B T D AR TN
BEE~OXZE L LT, EFMEOFE THMAIH L, BREIANN 7050 M 2§

60
k3
<TEE >
- TB CHEH AR BRI 4
50, 000f9 X 699 A =34, 950

- HER ERERCESE) 2,149
()

FH CHAF AT SR A AIAG AT et AT S 26 B filh 4 34, 950
FB CHHETE SRR T e T 5 Fe B & 2, 149




